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D Consider the following statements: // @Ffaf@a FUaT 97 RER F&
1

. The Kudankulam Nuclear Power Plant in Tamil Nadu is the largest nuclear power station in
India byinstalled capacity.
2. Solar Energy Corporation of India is responsible for the development of solar energy in India,
including the implementation of the National Solar Mission.

3. India aimed to achieve_275 GW of renewable energy capacity by 2022 as part of its
commitments to the Paris Agreement.
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B Consider the following statements: // @Ffaf@d F¥«T 97 R{AER &1
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Which of the following statements related to macroeconomics is correct?
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A) Stock is static in nature
B) Flow is dynamic in nature.
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Which of the statements above is/are correct? // m##mm/#ma?r%/%?

Only A is true

Only B is true

Both A and B is true

4. Neither A nor B is true
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. Which of the following is INCORRECTLY matched? l
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Montane climate - Uttar Pradesh, ﬁ?ﬁ‘ﬂ'm I 9T, fegw v
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2. Hot deserts, arid climate - Rajasthan 2. mﬁ‘iﬂ'ﬁﬂﬁ QI‘WW ST
and some parts of Gujarat — ﬁtmﬁﬂm

3. Tropical monsoon climate - The 3. Nﬂ?ﬁ'ﬂﬁﬂ' m?m?ﬁ geldi g -
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" Consider the following statements: / Fafaf@a Fyat W Rax =X

1. The Eighth Schedule of the Indian Constitution lists 22 languages recognized as scheduled
languages of India.

2. Sanskrit is the liturgical language of Hinduism, Buddhism, and Jainism, and is one of the 22
languages listed in the Eighth Schedule.

3. Konkani, spoken in the Western coastal regions of India, was added to the Eighth Schedule in
the 71st amendment of the Constitution.
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Which of the statements above is/are correct? // 3U0&Fd & & HieT T/ mwé‘r%/%?

1. 1,2,and3 2.1and 2 only
3. 2and3only 4.1 only
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7 India is a net exporter of iron and zinc ores.

‘j/ﬁ"ne Khetri C\owRajasthan is a significant copper-produding region in
India.

The majority of India's petroleum production comes from thé offshore fields n
/‘)n Bay of Bengal.
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1. 1,2,3and 4 2.1,2and 4 only
3. 2,3and4only 4.1, 2 and 3 only
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Consider the following statements:
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1. 1,2and3 2.1and 2 only
3. 1and3only 4.2 and 3 only

Ten Indicators

Nutrition
—— Health : c
Child Mortality
Three Years of Schooling
)Jimensions [~ Education
of School Attendance
Poverty
Cooking Fuel
§ 2 Sanitation
i ving Water
Standard Electricity

Floor
Assets
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